
SHEET 1 OF 1 4/19/2011 11:39 AM

CALIFORNIA INSTITUTE OF TECHNOLOGY       DRWG NO.     REV  GID

MASSACHUSETTS INSTITUTE OF TECHNOLOGY     E1000663-v1
SHEET 1 OF 1
ASSEMBLY NO:

OVERALL BILL OF MATERIALS D1001011-v1
TITLE:

SLC ARM CAVITY BAFFLE ASSY

APPROVALS: DATE: REV DCN NO. BY CHECK DCC DATE

DRAWN / AUTHOR:
CIT, CC 25-Aug-10 v1 E1000216 NN

(REFERENCE CONTENTS)

CHECKED:

APPROVED:

DCC RELEASE

ITEM NO REQ. SPARE TOT. PART NUMBER REVISION MATERIAL

1 1 1 D1001005 v1 N/A

2 1 1 D1001007 v1 N/A

3 1 1 D1002564 v1 N/A

4 1 1 D1002582 v1 N/A

5 2 2 95412A651 _ 18-8 SSTL

6 4 2 6 98370A019 _ 18-8 SSTL

7 4 2 6 N-3816-A _ Ag 18-8 SSTL

8 4 2 6 NAS 620-
C416

_ 300 SSTL

9 4 2 6 C-2016-NA _ Ag 18-8 SSTL

10 4 2 6 92196A542 _ 300 SSTL

11 4 2 6 96659A106 _ 18-8 SSTL

SCREW, SOCKET HEAD CAP, 1/4-20 
UNC-2A X 1 L, McMASTER

WASHER #1/4 X .281 ID X .63 OD McMASTER

WASHER #.375 X .75 OD, McMASTER

HEX NUT, 3/8-16, SILVER PLATED UC COMP

ACB TUBE LO ASSY

WASHER, FLAT, 1/4 (NAS 620-C416 OR 
EQUIVALENT)

SCREW, SOCKET HEAD CAP, 1/4-20 
UNC-2A X 1 L, UC COMP

DESCRIPTION

SLC EDDY CURRENT DAMPING 8 DIA 
TUBE ASSY

SLC BAFFLE TUBE UP ASSEMBLY

ARM CAVITY BAFFLE BLADE ASSY

THREADED STUD .375-16 X 9, 
McMASTER


	OVERALL BOM

